ON THE DERIVATIVES OF THE HEUN FUNCTIONS

G. FILIPUK, A. ISHKHANYAN, J. DEREZIŃSKI

University of Warsaw, Warsaw, Poland Russian-Armenian University, Yerevan, Armenia University of Warsaw, Warszawa, Poland

E-mails: G.Filipuk@mimuw.edu.pl; aishkhanyan@gmail.com; jan.derezinski@fuw.edu.pl

Abstract. The Heun functions satisfy linear ordinary differential equations of second order with certain singularities in the complex plane. The first order derivatives of the Heun functions satisfy linear second order differential equations with one more singularity. In this paper we compare these equations with linear differential equations isomonodromy deformations of which are described by the Painlevé equations $P_{II} - P_{VI}$.

MSC2010 numbers: 33E10, 34B30, 34M55, 34M56.

Keywords: linear ordinary differential equation; Heun function; isomonodromy deformation.

1. Introduction

The general Heun equation is the most general second order linear Fuchsian ordinary differential equation with four regular singular points in the complex plane [2, 3, 4, 5]. Although it is a generalization of the well-studied Gauss hypergeometric equation with three regular singularities, it is much more difficult to investigate properties of the Heun functions. The additional singularity causes many complications in comparison with the hypergeometric case (for instance, the solutions in general have no integral representations involving simpler mathematical functions). There also exist confluent Heun equations (see [3, 4]) which have irregular singularities. There are many studies on the properties of solutions of the Heun equations from different perspectives (see, for instance, [6, 7, 8, 9, 10, 11, 12, 13, 14, 15, 16, 17] and the references therein). The Heun functions (and their confluent cases) appear extensively in many problems of mathematics, mathematical physics, physics and engineering (e.g., [18, 19, 20]). An extensive bibliography can be found at [1].

The general Heun equation is given by the following equation:

$$(1.1) \qquad \qquad \frac{d^2u}{dz^2} + \left(\frac{\gamma}{z} + \frac{\delta}{z-1} + \frac{\varepsilon}{z-t}\right)\frac{du}{dz} + \frac{\alpha\beta z - q}{z(z-1)(z-t)}u = 0,$$

where the parameters satisfy the Fuchsian relation

(1.2)
$$1 + \alpha + \beta = \gamma + \delta + \varepsilon.$$

This equation has four regular singular points at z = 0, 1, t and ∞ . Its solutions, the Heun functions, are usually denoted by $u = H(t, q; \alpha, \beta, \gamma, \delta; z)$ assuming that ε is obtained from (1.2). The parameter q is referred to as the accessory parameter.

It is well-known that the derivative of the hypergeometric function ${}_2F_1$ is again a hypergeometric function with different values of the parameters. However, for the Heun function it is generally not the case. The first order derivative of the general Heun function satisfies a second order Fuchsian differential equation with five regular singular points [7, 8, 12]. It can be verified by direct computations that the function v(z) = du/dz, where u = u(z) is a solution of (1.1), satisfies the following equation:

$$\frac{d^2v}{dz^2} + \left(\frac{\gamma+1}{z} + \frac{\delta+1}{z-1} + \frac{\varepsilon+1}{z-t} - \frac{\alpha\beta}{\alpha\beta z - q}\right)\frac{dv}{dz} + \frac{f(z)}{z(z-1)(z-t)(\alpha\beta z - q)}v = 0,$$

where $f(z) = z(\alpha\beta z - 2q)(\alpha\beta + \gamma + \delta + \varepsilon) + (q^2 + q(\gamma + t(\gamma + \delta) + \varepsilon) - \alpha\beta\gamma t)$. We see that an additional singularity at $z = q/(\alpha\beta)$ involving the accessory parameter is added.

It is known that in some cases equation (1.3) reduces to a Heun equation (1.1) with altered parameters [8]. Indeed, we can observe that in four cases when q = 0, $q = \alpha \beta$, $q = \alpha \beta t$ and $\alpha \beta = 0$ the additional singularity in (1.3) disappears and we obtain the Heun equation (1.1) with different parameters [8]. The equation for the derivatives of the Heun functions allows one to construct several new expansions of solutions of the Heun equations in terms of various special functions (e.g., hypergeometric functions) [7]. Similar results hold for confluent cases [12].

This paper is organized as follows. In Section 2 we give a list of all confluent Heun equations together with linear second order equations for the derivatives of the Heun functions. In Section 3 we briefly describe the theory of isomonodromy deformations of linear equations and show how the famous Painlevé equations appear in this context. Next, in Section 4 we present our main results. In particular, we will compare linear equations for the Heun derivatives with linear differential equations, isomonodromy deformations of which are described by the Painlevé equations.

2. Confluent Heun equations and equations for derivatives of confluent Heun functions

The general Heun equation is given by (1.1) together with (1.2) and the linear equation for the derivative of the Heun functions is (1.3).

The confluent Heun equation is written as

(2.1)
$$\frac{d^2u}{dz^2} + \left(\frac{\gamma}{z} + \frac{\delta}{z-1} + \varepsilon\right)\frac{du}{dz} + \frac{\alpha z - q}{z(z-1)}u = 0$$

and the linear equation for the function v = du/dz is given by

$$(2.2) \qquad \frac{d^2v}{dz^2} + \left(\frac{\gamma+1}{z} + \frac{\delta+1}{z-1} + \varepsilon - \frac{\alpha}{\alpha z - q}\right)\frac{dv}{dz} + \frac{g(z)}{z(z-1)(\alpha z - q)}v = 0,$$

where
$$g(z) = (\alpha + \varepsilon)(\alpha z^2 - 2qz) + (q^2 - (\gamma + \delta - \varepsilon)q + \alpha\gamma).$$

The double-confluent Heun equation is

(2.3)
$$\frac{d^2u}{dz^2} + \left(\frac{\gamma}{z^2} + \frac{\delta}{z} + \varepsilon\right) \frac{du}{dz} + \frac{\alpha z - q}{z^2} u = 0$$

and the linear equation for the function v = du/dz is given by

$$(2.4) \qquad \frac{d^2v}{dz^2} + \left(\frac{\gamma}{z^2} + \frac{\delta+2}{z} + \varepsilon - \frac{\alpha}{\alpha z - q}\right)\frac{dv}{dz} + \frac{h(z)}{z^2(\alpha z - q)}v = 0,$$

where
$$h(z) = (\alpha + \varepsilon)(\alpha z^2 - 2qz) + (q^2 - \delta q - \alpha \gamma)$$
.

The bi-confluent Heun equation is

(2.5)
$$\frac{d^2u}{dz^2} + \left(\frac{\gamma}{z} + \delta + \varepsilon z\right) \frac{du}{dz} + \frac{\alpha z - q}{z} u = 0$$

and the linear equation for the function v = du/dz is given by

(2.6)
$$\frac{d^2v}{dz^2} + \left(\frac{\gamma+1}{z} + \delta + \varepsilon z - \frac{\alpha}{\alpha z - q}\right) \frac{dv}{dz} + \frac{k(z)}{z(\alpha z - q)}v = 0,$$

where
$$k(z) = (\alpha + \varepsilon)z(\alpha z - 2q) + (q^2 - \delta q - \alpha \gamma)$$
.

The tri-confluent Heun equation is

(2.7)
$$\frac{d^2u}{dz^2} + \left(\gamma + \delta z + \varepsilon z^2\right) \frac{du}{dz} + (\alpha z - q)u = 0$$

and the linear equation for the function v = du/dz is given by

(2.8)
$$\frac{d^2v}{dz^2} + \left(\gamma + \delta z + \varepsilon z^2 - \frac{\alpha}{\alpha z - q}\right) \frac{dv}{dz} + \frac{p(z)}{(\alpha z - q)}v = 0,$$

where
$$p(z) = (\alpha + \varepsilon)(\alpha z^2 - 2qz) + (q^2 - \delta q - \alpha \gamma).$$

3. Isomonodromic deformations of linear equations and the Painleve equations

In this section we briefly review the theory of isomonodromic deformations of linear second order differential equations following [21, 22, 23]. We shall use notation similar to [22].

The isomonodromic deformations of linear second order differential equations of the form

(3.1)
$$\frac{d^2v}{dz^2} + p_1(z)\frac{dv}{dz} + p_2(z)v = 0,$$

with p_1 , p_2 being rational functions of z and parameters of deformation t_1, \ldots, t_n , are governed by a completely integrable Hamiltonian system of partial differential equations with respect to the parameters. When there is one parameter of deformation, t, the Painlevé equations $P_I - P_{VI}$ appear as the compatibility condition of the extended linear system consisting of equation (3.1) and equaton

(3.2)
$$\frac{\partial v}{\partial t} = a(z,t)\frac{\partial v}{\partial z} + b(z,t)v.$$

The Painlevé equations $P_I - P_{VI}$ are nonlinear second order differential equations with the so-called Painlevé property. They have many interesting properties and appear in many areas of mathematics. See, for instance, [24, 25, 21] and numerous references therein. The completely integrable Hamiltonian system is then equivalent to a Painlevé equation for one of the variables. Below we shall present necessary formulas for equations $P_{II} - P_{VI}$.

To get the sixth Painlevé equation one chooses

$$(3.3) p_1(z,t) = \frac{1-\kappa_0}{z} + \frac{1-\kappa_1}{z-1} + \frac{1-\theta}{z-t} - \frac{1}{z-\lambda}$$

(3.4)
$$p_2(z,t) = \frac{\kappa}{z(z-1)} - \frac{t(t-1)H_{VI}}{z(z-1)(z-t)} + \frac{\lambda(\lambda-1)\mu}{z(z-1)(z-\lambda)},$$

where

$$t(t-1)H_{VI} = \lambda(\lambda-1)(\lambda-t)\mu^{2}$$
$$-\{\kappa_{0}(\lambda-1)(\lambda-t) + \kappa_{1}\lambda(\lambda-t) + (\theta-1)\lambda(\lambda-1)\}\mu + \kappa(\lambda-t).$$

Then the compatibility between (3.1) and (3.2) with certain a(z,t) and b(z,t) (see [21, 22, 23] for details) leads to the Hamiltonian system

$$\frac{d\lambda}{dt} = \frac{\partial H_{VI}}{\partial \mu}, \quad \frac{d\mu}{dt} = -\frac{\partial H_{VI}}{\partial \lambda}$$

and by eliminating the function μ one can get the sixth Painlevé equation

$$\frac{d^{2}\lambda}{dt^{2}} = \frac{1}{2} \left(\frac{1}{\lambda} + \frac{1}{\lambda - 1} + \frac{1}{\lambda - t} \right) \left(\frac{d\lambda}{dt} \right)^{2} - \left(\frac{1}{t} + \frac{1}{t - 1} + \frac{1}{\lambda - t} \right) \frac{d\lambda}{dt}
+ \frac{\lambda(\lambda - 1)(\lambda - t)}{t^{2}(t - 1)^{2}} \left(\alpha_{6} + \beta_{6} \frac{t}{\lambda^{2}} + \gamma_{6} \frac{t - 1}{(\lambda - 1)^{2}} + \delta_{6} \frac{t(t - 1)}{(\lambda - t)^{2}} \right),$$
(3.5)

where

$$\alpha_6 = \frac{1}{2}\kappa_{\infty}^2, \quad \beta_6 = -\frac{1}{2}\kappa_0^2, \quad \gamma_6 = \frac{1}{2}\kappa_1^2, \quad \delta_6 = \frac{1}{2}(1 - \theta^2)$$

and

$$\kappa = \frac{1}{4}(\kappa_0 + \kappa_1 + \theta - 1)^2 - \frac{1}{4}\kappa_\infty^2.$$

To get the fifth Painlevé equation one chooses

(3.6)
$$p_1(z,t) = \frac{1-\kappa_0}{z} + \frac{\eta t}{(z-1)^2} + \frac{1-\theta}{z-1} - \frac{1}{z-\lambda},$$

(3.7)
$$p_2(z,t) = \frac{\kappa}{z(z-1)} - \frac{tH_V}{z(z-1)^2} + \frac{\lambda(\lambda-1)\mu}{z(z-1)(z-\lambda)},$$

where

$$tH_V = \lambda(\lambda - 1)^2 \mu^2 - \{\kappa_0(\lambda - 1)^2 + \theta\lambda(\lambda - 1) - \eta t\lambda\}\mu + \kappa(\lambda - 1).$$

Then similarly to the previous case the corresponding Hamiltonian system with the Hamiltonian H_V leads to the fifth Painlevé equation

$$\frac{d^2\lambda}{dt^2} = \left(\frac{1}{2\lambda} + \frac{1}{\lambda - 1}\right) \left(\frac{d\lambda}{dt}\right)^2 - \frac{1}{t}\frac{d\lambda}{dt} + \frac{(\lambda - 1)^2}{t^2} \left(\alpha_5\lambda + \frac{\beta_5}{\lambda}\right) + \gamma_5\frac{\lambda}{t} + \delta_5\frac{\lambda(\lambda + 1)}{\lambda - 1},$$
(3.8)

where

$$\alpha_5 = \frac{1}{2}\kappa_{\infty}^2, \quad \beta_5 = -\frac{1}{2}\kappa_0^2, \quad \gamma_5 = (1+\theta)\eta, \quad \delta_5 = \frac{1}{2}\eta^2$$

and

$$\kappa = \frac{1}{4}(\kappa_0 + \theta)^2 - \frac{1}{4}\kappa_\infty^2.$$

To get the fourth Painlevé equation one chooses

(3.9)
$$p_1(z,t) = \frac{1-\kappa_0}{z} - \frac{z+2t}{2} - \frac{1}{z-\lambda}$$

(3.10)
$$p_2(z,t) = \frac{1}{2}\theta_{\infty} - \frac{H_{IV}}{2z} + \frac{\lambda \mu}{z(z-\lambda)},$$

where

$$H_{IV} = 2\lambda \mu^2 - (\lambda^2 + 2t\lambda + 2\kappa_0)\mu + \theta_{\infty}\lambda.$$

Then the corresponding Hamiltonian system with the Hamiltonian ${\cal H}_{IV}$ leads to the fourth Painlevé equation

(3.11)
$$\frac{d^2\lambda}{dt^2} = \frac{1}{2\lambda} \left(\frac{d\lambda}{dt}\right)^2 + \frac{3}{2}\lambda^3 + 4t\lambda^2 + 2(t^2 - \alpha_4)\lambda + \frac{\beta_4}{\lambda},$$

where

$$\alpha_4 = -\kappa_0 + 2\theta_{\infty} + 1, \ \beta_4 = -2\kappa_0^2$$

The standard third Painlevé equation is given by

(3.12)
$$\frac{d^2\lambda}{dt^2} = \frac{1}{\lambda} \left(\frac{d\lambda}{dt}\right)^2 - \frac{1}{t}\frac{d\lambda}{dt} + \frac{\alpha_3\lambda^2 + \beta_3}{t} + \gamma_3\lambda^3 + \frac{\delta_3}{\lambda}.$$

However, for our purpose it is more convenient to consider an equation which can be obtained from (3.12) by changing $\lambda(t) \to \lambda(t^2)/t$ and by renaming the new variable $\tau = t^2$ as t again. This equation is given by

$$(3.13) \qquad \frac{d^2\lambda}{dt^2} = \frac{1}{\lambda} \left(\frac{d\lambda}{dt}\right)^2 - \frac{1}{t}\frac{d\lambda}{dt} + \frac{\alpha_3\lambda^2 + \gamma_3\lambda^3}{4t^2} + \frac{\beta_3}{4t} + \frac{\delta_3}{4\lambda}.$$

Equation (3.13), which will be denoted by P'_{III} , appears in the result of isomonodromic deformations of the linear equation (3.1) with

(3.14)
$$p_1(z,t) = \frac{\eta_0 t}{z^2} + \frac{1 - \theta_0}{z} - \eta_\infty - \frac{1}{z - \lambda},$$

(3.15)
$$p_2(z,t) = \frac{\eta_{\infty}(\theta_0 + \theta_{\infty})}{2z} - \frac{tH'_{III}}{z^2} + \frac{\lambda\mu}{z(z-\lambda)},$$

where

$$tH'_{III} = \lambda^2 \mu^2 - \{\eta_{\infty} \lambda^2 + \theta_0 \lambda - \eta_0 t\} \mu + \frac{1}{2} \eta_{\infty} (\theta_0 + \theta_{\infty}) \lambda$$

and the parameters are related by

$$\alpha_3 = -4\eta_\infty \theta_\infty$$
, $\beta_3 = 4\eta_0 (1 + \theta_0)$, $\gamma_3 = 4\eta_\infty^2$, $\delta_3 = -4\eta_0^2$.

Finally, the second Painlevé equation

$$\frac{d^2\lambda}{dt^2} = 2\lambda^3 + t\lambda + \alpha_2$$

appears in the result of isomonodromic deformations of the linear equation (3.1) with

(3.17)
$$p_1(z,t) = -2z^2 - t - \frac{1}{z-\lambda},$$

(3.18)
$$p_2(z,t) = -(2\alpha_2 + 1)z - 2H_{II} + \frac{\mu}{z - \lambda},$$

where

(3.19)
$$H_{II} = \frac{1}{2}\mu^2 - \left(\lambda^2 + \frac{1}{t}\right)\mu - \left(\alpha_2 + \frac{1}{2}\right)\lambda.$$

4. Main results

In this section we compare equations for the derivatives of the Heun functions with the linear differential equations whose isomonodromy deformations are governed by the Painlevé equations $P_{II} - P_{VI}$.

Let us consider the equation for the derivative of the general Heun function (1.3). By choosing parameters

$$\alpha\beta = \kappa_0 + \kappa_1 + \theta + \kappa, \quad \beta = \frac{1}{2}(\pm \kappa_\infty - 1 - \kappa_0 - \kappa_1 - \theta),$$
$$\gamma = -\kappa_0, \quad \delta = -\kappa_1, \quad \varepsilon = -\theta, \quad q = \alpha\beta\lambda,$$

we can calculate that the resulting equation is the same as equation (3.1) with (3.3), (3.4) and the expression for H_{VI} provided that

$$\mu = \frac{\kappa_0}{\lambda} + \frac{\kappa_1}{\lambda - 1} + \frac{\theta}{\lambda - t}.$$

If now λ and μ are viewed as functions of t, substituting this condition into the Hamiltonian system leading to the sixth Painlevé equation, we find that λ satisfies

the Riccati equation

$$\frac{d\lambda}{dt} = \frac{\kappa_0 t - (1 + \kappa_0 + (\kappa_0 + \kappa_1)t + \theta)\lambda + (1 + \kappa_0 + \kappa_1 + \theta)\lambda^2}{t(t - 1)}$$

and $\kappa_0 + \kappa_1 + \theta + \kappa = 0$. This gives classical solutions of the sixth Painlevé equation provided that $\kappa_0 = \pm \kappa_\infty - \theta - \kappa_1 - 1$. However, with this additional condition on the parameters we have $\alpha\beta = 0$ and q = 0.

In the equation for the derivative of the confluent Heun function (2.2) we first make the change of variables $v(z) \to (1-z/(z-1))^{\sigma} v(z/(z-1))$, renaming the new independent variable as z again, then put

$$\gamma = -\kappa_0, \ \delta = \kappa_0 + \theta + 2\sigma, \ \varepsilon = -t\eta,$$
$$\sigma = -\frac{1}{2}(\kappa_0 \pm \kappa_\infty + \theta), \ q = \frac{\alpha\lambda}{\lambda - 1}, \ \alpha = \frac{1}{2}t\eta(2 + \kappa_0 \pm \kappa_\infty + \theta).$$

The resulting equation is the same as equation (3.1) with (3.6), (3.7) and the expression for H_V provided that

$$\mu = \frac{\kappa_0}{\lambda} - \frac{t\eta}{(\lambda-1)^2} + \frac{\theta - \kappa_0 \pm \kappa_\infty}{2(\lambda-1)}.$$

Substituting this condition into the Hamiltonian system leading to the fifth Painlevé equation, we see that λ satisfies the Riccati equation

$$t\frac{d\lambda}{dt} \pm \kappa_{\infty} \lambda^2 - (\pm \kappa_{\infty} - \kappa_0 - t\eta) - \kappa_0 = 0$$

and $\eta(2+\kappa_0\pm\kappa_\infty+\theta)=0$. Again, with this additional condition on the parameters we have $\alpha=0$ and q=0.

In the equation for the derivative of the bi-confluent Heun function (2.6) we take

$$\gamma = -\kappa_0, \ \delta = -t, \ q = \alpha\lambda, \ \alpha = \frac{\theta_\infty + 1}{2}, \ \varepsilon = -\frac{1}{2}.$$

The resulting equation is the same as equation (3.1) with (3.9), (3.10) and the expression for H_{IV} provided that

$$\mu = t + \frac{\kappa_0}{\lambda} + \frac{\lambda}{2}.$$

Substituting this condition into the Hamiltonian system leading to the fourth Painlevé equation, we find that λ satisfies the Riccati equation

$$\frac{d\lambda}{dt} = \lambda^2 + 2t\lambda + 2\kappa_0$$

and $\theta_{\infty} + 1 = 0$. Again, with this additional condition on the parameters we have $\alpha = 0$ and q = 0.

In the equation for the derivative of the double-confluent Heun function (2.6) we take

$$\gamma = t\eta_0, \ \delta = -1 - \theta_0, \ q = \alpha\lambda, \ \alpha = \frac{1}{2}\eta_\infty(\theta_0 + \theta_\infty + 2), \ \varepsilon = -\eta_\infty.$$

The resulting equation is the same as equation (3.1) with (3.14), (3.15) and the expression for H'_{III} provided that

$$\mu = \eta_{\infty} - \frac{t\eta_0}{\lambda^2} + \frac{\theta_0 + 1}{\lambda}.$$

Substituting this condition into the Hamiltonian system leading to the modified third Painlevé equation P'_{III} , we find that λ satisfies the Riccati equation

$$t\frac{d\lambda}{dt} = \eta_{\infty}\lambda^2 + (\theta_0 + 2)\lambda - t\eta_0$$

and $\eta_{\infty}(\theta_0 + \theta_{\infty} + 2) = 0$. Again, with this additional condition on the parameters we have $\alpha = 0$ and q = 0.

In the equation for the derivative of the tri-confluent Heun function (2.8) we take

$$\gamma = -t, \ \delta = 0, \ q = \alpha \lambda, \ \alpha = 1 - 2\alpha_2, \ \varepsilon = -2.$$

The resulting equation is the same as equation (3.1) with (3.17), (3.18) and the expression for H_{II} provided that

$$\mu = 2\lambda^2 + t.$$

Substituting this condition into the Hamiltonian system leading to the second Painlevé equation, we see that λ satisfies the Riccati equation

$$2\frac{d\lambda}{dt} = 2\lambda^2 + t$$

and $2\alpha_2 = 1$. Again, with this additional condition on the parameters we have $\alpha = 0$ and q = 0.

Hence, we see that in all cases we can reduce equations for the derivatives of the Heun functions to certain linear equations, isomonodromy deformations of which lead to the Painlevé equations with an additional constraint on λ and μ . However, in order to get classical solutions of the Painlevé equations we need an additional constraint on the parameters. Therefore, those linear equations isomonodromy deformations of which are described by classical solutions of the Painlevé equations cannot be obtained from the equations for the derivatives of the Heun functions.

Acknowledgements. We thank M. Nieszporski (University of Warsaw) for interesting discussions. GF acknowledges the support of the National Science Center (Poland) via grant OPUS 2017/25/B/BST1/00931 and the Alexander von Humboldt Foundation. The support of the Armenian State Committee of Science (SCS Grants No. 18RF-139 and No. 18T-1C276), the Armenian National Science and Education Fund (ANSEF Grant No. PS-5701), the Russian-Armenian (Slavonic) University is also greatfully acknowledged. AI thanks the colleagues from the University of Warsaw for hospitality and inspiring discussions.

ON THE DERIVATIVES OF THE HEUN FUNCTIONS

Список литературы

- [1] https://theheunproject.org/bibliography.html
- [2] K. Heun, "Zur Theorie der Riemann'schen Functionen zweiter Ordnung mit vier Verzweigungspunkten", Math. Ann., 33, 161 179 (1889).
- [3] A. Ronveaux (Ed.), Heun's Differential Equations, Oxford University Press, Oxford (1995).
- [4] S. Y. Slavyanov, W. Lay, Special Functions. A Unified Theory Based on Singularities, Oxford University Press, Oxford (2000).
- [5] B. D. Sleeman, V. B. Kuznetsov, Heun Functions, https://dlmf.nist.gov/31.
- [6] G. Filipuk, "A hypergeometric system of the Heun equation and middle convolution", J. Phys. A: Mathematical and Theoretical, 42, 175208 (11 pp.) (2009).
- [7] A. M. Ishkhanyan, "Appell hypergeometric expansions of the solutions of the general Heun equation", Constr. Approx. 49 (3), 445 - 459 (2019).
- [8] A. Ishkhanyan, K. A. Suominen, "New solutions of Heun's general equation", J. Phys. A: Math. Gen. 36, L81 - L85 (2003).
- [9] T. A. Ishkhanyan, T. A. Shahverdyan, A. M. Ishkhanyan, "Expansions of the solutions of the general Heun equation giverned by two-term recurrence relations for coefficients", Advances in High Energy Physics, 4263678 (9pp.) (2018).
- [10] M. N. Hounkonnou, A. Ronveaux, "About derivatives of Heun's functions from polynomial transformations of hypergeometric equations", Appl. Math. Comp. 209, 421 – 424 (2009).
- [11] K. Kuiken, "Heun's equation and the hypergeometric equation", SIAM J. Math. Anal. 10 (3), 655 - 657 (1979).
- [12] C. Leroy, A. M. Ishkhanyan, "Expansions of the solutions of the confluent Heun equation in terms of the incomplete Beta and the Appell generalized hypergeometric functions", Integral Transforms Spec. Funct. 26, 451 – 459 (2015).
- [13] R. Maier, "The 192 solutions of the Heun equation", Math. Comp. 76 (258), 811 843 (2007).
- [14] A. Ronveaux, "Factorization of the Heun's differential operator", Applied Mathematics and Computation, 141, 177 – 184 (2003).
- [15] R. Schäfke, D. Schmidt, "The connection problem for general linear ordinary differential equations at two regular singular points with applications to the theory of special functions", SIAM J. Math. Anal., 11 (5), 848 - 862 (1980).
- [16] R. Vidunas, G. Filipuk, "A classification of coverings yielding Heun-to-hypergeometric reductions", Osaka Journal of Mathematics, 51, 867 – 903 (2014).
- [17] R. Vidunas, G. Filipuk, "Parametric transformations between the Heun and Gauss hypergeometric functions", Funkcialaj Ekvacioj, **56**, 271 321 (2013).
- [18] R. V. Craster, V. H. Hoàng, "Applications of Fuchsian differential equations to free boundary problems", Proc. R. Soc. Lond. A, 454, 1241 - 1252 (1998).
- [19] A. J. Guttmann, T. Prellberg, "Staircase polygons, elliptic integrals, Heun functions, and lattice Green functions", Phys. Rev. E 47 (4), R2233 - R2236 (1993).
- [20] G. S. Joyce, "On the cubic lattice Green functions", Proc. Roy. Soc. London Ser. A, 445, 463 – 477 (1994).
- [21] K. Iwasaki, H. Kimura, S. Shimomura, M. Yoshida, From Gauss to Painlevé. A modern theory of special functions, Aspects of Mathematics, E16. Friedr. Vieweg & Sohn, Braunschweig (1991).
- [22] Y. Ohyama, S. Okumura, "A coalescent diagram of the Painlevé equations from the viewpoint of isomonodromic deformations", J. Phys. A 39, 12129 – 12151 (2006).
- [23] K. Okamoto, "Isomonodromic deformation and Painlevé equations, and the Garnier system, J. Fac. Sci. Univ. Tokyo Sect. IA Math. 33, 575 – 618 (1986).
- [24] P. A. Clarkson, Painlevé Transcendents, https://dlmf.nist.gov/32.
- [25] V. I. Gromak, I. Laine, S. Shimomura, "Painlevé differential equations in the complex plane", De Gruyter Studies in Mathematics, 28, Walter de Gruyter & Co., Berlin (2002).

Поступила 26 июля 2019

После доработки 19 января 2020

Принята к публикации 06 февраля 2020